

II ...  $\bigcirc$   
I ...  $\bigcirc$

I ...  $\bigcirc$   
II ...  $\bigcirc$

$$= \beta + P_{\alpha} Q \left\{ \cos \left( 2k - m \right) \frac{\pi}{n} + \sin \left( 2k - m \right) \frac{\pi}{n} \right\} + (\beta - \alpha) + (a+2) \left( \frac{d\beta}{da} - \frac{d\alpha}{da} \right) + \frac{1}{\beta} \cdot \frac{d\beta}{da} - \frac{1}{\alpha} \cdot \frac{d\alpha}{da}$$

$$P_{\alpha} Q^2 = |\beta|^2$$

$$= \tan^2 \left( \frac{m}{n} - \frac{1}{2} \right) \pi + 1$$

$$= \frac{1}{\cos^2 \left( \frac{m}{n} - \frac{1}{2} \right) \pi}$$

$$\begin{aligned} d\alpha - \beta &= (\alpha - \beta) \left( \cos \frac{m\pi}{n} + i \sin \frac{m\pi}{n} \right) \\ \Leftrightarrow 2i &= \beta - \beta \left( \cos \frac{m\pi}{n} + i \sin \frac{m\pi}{n} \right) \end{aligned}$$

$$\beta = \frac{2i}{1 - \cos \frac{2m\pi}{n} - i \sin \frac{2m\pi}{n}}$$

$$\therefore P_{\alpha} Q = \frac{\sin \frac{m\pi}{n} \pi}{\sin \frac{m\pi}{n} \pi} \quad \text{↑ ... } \bigcirc$$

$$= \frac{2i \left( 1 - \cos \frac{2m\pi}{n} + i \sin \frac{2m\pi}{n} \right)}{\left( 1 - \cos \frac{2m\pi}{n} \right)^2 + \sin^2 \frac{2m\pi}{n}}$$

$$= \frac{i \left( 1 - \cos \frac{2m\pi}{n} + i \sin \frac{2m\pi}{n} \right)}{1 - \cos \frac{2m\pi}{n}}$$

$$= \frac{-\sin \frac{2m\pi}{n}}{1 - \left( 1 - 2 \sin^2 \frac{m\pi}{n} \right)} + i$$

$$= \frac{-2 \sin \frac{m\pi}{n} \cos \frac{m\pi}{n}}{2 \sin^2 \frac{m\pi}{n}} + i$$

$$= -\frac{1}{\tan \frac{m\pi}{n}} + i$$

$$= \tan \left( \frac{m}{n} - \frac{1}{2} \right) \pi + i$$

$$\left( \cos \frac{2m\pi}{n} + i \sin \frac{2m\pi}{n} \right)$$

$$= \beta + P_{\alpha} Q \left\{ \cos \left( \frac{m\pi}{n} \right) + i \sin \left( \frac{m\pi}{n} \right) \right\}$$

$$= \frac{1}{2} \left( \beta^2 - \alpha^2 \right) + \frac{1}{2} \left( 2\beta \frac{d\beta}{da} - 2\alpha \frac{d\alpha}{da} \right)$$

$$= \frac{1}{2} (\beta^2 - \alpha^2) + \beta - \alpha$$

$$+ \left( \alpha \beta + (\alpha + 2) + \frac{1}{\beta} \right) \frac{d\beta}{da} - \left( \alpha \alpha + (\alpha + 2) + \frac{1}{\alpha} \right) \frac{d\alpha}{da}$$

$$\text{解と係数の関係式} \quad \Rightarrow \alpha x^2 + (\alpha + 2)x + 1 = 0$$

$$d + \beta = -\frac{\alpha + 2}{\alpha}, \quad \alpha \beta = \frac{1}{\alpha}$$

$$= \frac{1}{2} (\beta - \alpha) (\alpha + \beta + 2)$$

$$\alpha \cdots \bigcirc, \quad \beta \cdots \bigcirc$$

$$\beta(x) = 0$$

$$\Leftrightarrow d + \beta + 2 = -\frac{\alpha}{\alpha} + 1 = 0$$

$$\Leftrightarrow \alpha = 2 \quad \text{↑ ... } \bigcirc$$

$$\begin{aligned} \beta(x) &= \left\{ \alpha x + (\alpha + 2) + \frac{1}{x} \right\} \\ &= \left[ \frac{1}{2} \alpha x^2 + (\alpha + 2)x + \alpha + 2 \right] \bigg|_{\alpha=2} \end{aligned}$$

$$(\beta - \alpha)^2 = (\alpha + \beta)^2 - 4\alpha\beta$$

$$= \frac{\alpha^2 + 4\alpha + 4}{\alpha^2} - \frac{4}{\alpha}$$

$$\underbrace{\alpha - \beta}_{\alpha = 2} = \underbrace{\alpha - \alpha}_{\alpha = 2} = \frac{\beta}{2}$$

$$\neq \cdots \bigcirc$$

$$\therefore \beta - \alpha = \frac{1}{2}$$

$$\beta(x)$$

$$J(\alpha)$$

$$= \frac{\alpha}{2} \left( -\frac{\alpha+2}{\alpha} \right) \frac{\sqrt{\alpha^2+4}}{\alpha}$$

$$+ (\alpha+2) \frac{\sqrt{\alpha^2+4}}{\alpha} + \log \frac{\beta}{\alpha}$$

$$= \frac{\alpha+2}{2\alpha} \sqrt{\alpha^2+4} + \log \frac{\beta \alpha^2 + \sqrt{\alpha^2+4}}{\alpha^2 - (\alpha+2) \sqrt{\alpha^2+4}}$$

$$= \frac{\alpha+2}{2\alpha} \sqrt{\alpha^2+4} + \log \frac{\alpha^2 - \sqrt{\alpha^2+4}}{\alpha^2 + \sqrt{\alpha^2+4}}$$

$$\text{I} \dots \textcircled{1} \quad \text{II} \dots \textcircled{2}$$

$$\alpha = 2 \text{で} \frac{\sqrt{\alpha^2+4}}{\alpha} \text{を} \text{I} \text{に} \text{代入}$$

$$J(2)$$

$$= \sqrt{8} + \log \frac{4\sqrt{8}}{4+\sqrt{8}}$$

$$= 2\sqrt{2} + \log \frac{2+\sqrt{2}}{2-\sqrt{2}} \times \frac{2-\sqrt{2}}{2-\sqrt{2}}$$

$$= 2\sqrt{2} + \log \left( 3 - 2\sqrt{2} \right)$$

$$= 2\sqrt{2} + 2\log \left( \sqrt{2} - 1 \right)$$

$$\therefore \textcircled{b}$$

$$(4)$$

$$P_{n+1} = \frac{1}{2} (1 - P_n)$$

$$\text{確率} \rightarrow 1 - P_n$$

$$(3) \quad \begin{array}{l} \text{確率} \\ \text{曲線上} \end{array} \quad \begin{array}{l} \text{確率} \\ \text{曲線上} \end{array}$$

$$P_n \xrightarrow{\text{確率}} P_{n+1}$$

$$(2)$$

$$R^2 \text{の曲線上に} \rightarrow \text{は}$$

$$\text{総運動が} 2\pi \text{度} \rightarrow 2\pi$$

$$P_6 \left( \frac{1}{2} \right) \left( \frac{1}{2} \right)^3 + \left( \frac{1}{2} \right)^9$$

$$= \frac{3 \cdot 4 \cdot 7 + 1}{512} = \frac{85}{512}$$

$$5C_1 \frac{1}{2} \left( \frac{1}{2} \right)^4 = \frac{5}{32}$$

$$\text{III}$$

$$(1) \quad R^2(-1, 0) \text{ で} \rightarrow \text{は}$$

$$5 \text{回} \rightarrow \text{回} \frac{1}{3}, 4 \text{回} \frac{1}{3} \text{ 総運動}$$